
cg'dfg
2078 h]i& 15 

ut];Ddsf] oyfy{
;+zf]lwt cg'dfg

1 cfGtl/s /fhZj M

1=1 PsLs[t ;DklQ s/ 5,000,000.00 245,447.22 10,500,000.00 

1=2 #/hUuf jxfn s/ 1,300,000.00 653,912.57 1,300,000.00 

1=3 Joj;fo s/ -btf{÷gljs/)f ;d]t_ 600,000.00 759,510.00 1,000,000.00 

1=4 axfn lj^f}/L z'Ns 200,000.00 159,900.00 200,000.00 

1=5 kfls{Ë z'Ns

1=6 h*Lj'^L, sjf*L / hLjhGt' s/ 100,000.00 100,000.00 

1=7 ;]jf z'Ns

1=8 cGo -ljleGg b:t'/x?_

1=9 s[lifhGo÷kz' dj]zL s/ 3,000,000.00 3,734,390.00 3,000,000.00 

1=10 xf^÷;fKtflxs xf^ s/ 800,000.00 800,000.00 

1=11 tf/#f^, hnljxf/ tyf df%f dfg]{ &]Ssf

1=12 JolQmut #^gf b:t'/ 150,000.00 73,050.00 150,000.00 

1=13 e"lds/÷dfnkf]t 32,500,000.00 44,540,849.78 70,000,000.00 

1=14 cGo ljqmL -af]nkq kmf/d, lstfj cflb_ 700,000.00 713,450.00 1,000,000.00 

1=15 Goflos b)* hl/jfgf / hkmt 200,000.00 122,585.00 200,000.00 

1=16 l;kmfl/; b:t'/ 850,000.00 3,763,650.37 2,500,000.00 

1=17 ;+:yf btf{÷gljs/)f b:t'/ 100,000.00 100,000.00 

cGo b:t'/ -;j} b:t'/x?_ 1,500,000.00 841,008.63 1,500,000.00 

1=18 gS;f kf; b:t'/ 1,000,000.00 986,483.23 2,000,000.00 

lzif{s cf=j= 2077÷078 sf] 

cf=j= 2078÷079 

sf] cg'dfg/fhZj M

a/fxIf]q gu/kflnsf

gu/ sfo{kflnsfsf] sfof{no 
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1=19 l;^L ;kmf/L btf{÷gfd;f/L b:t'/ 10,000.00 100,000.00 

1=20 cGo If]qsf] cfo 500,000.00 1,572,505.00 6,000,000.00 

1=21 cGo ljljw cfo 50,000.00 50,000.00 

1=22 ('Ëf, lu§L, jfn'jf / e/f}^ ljqmL tyf lgsfzL cfo 35,696,700.00 10,990,513.00 35,000,000.00 

1=23 ut cf=j=sf] df}Hbft 70,580,000.00 112,758,453.00 130,049,570.00 

1=24 w/f}^L hkmt÷;b/:ofxf 300,000.00 300,000.00 

155,136,700.00 181,915,707.80 - 265,849,570.00 

2 /fhZj jfF*kmfF* M

2=1 d"No clej[l$ s/ tyf cGtM z'Ns 130,683,693.00 82,543,733.76 131,604,000.00 

2=2 k|fs[lts >f]tsf] /f]oN^L

2=2=1 kj{tf/f]x)f

2=2=2 ljB't 499,995.00 

2=2=3 jg 232,483.00 

2=2=4 vfgL tyf vlgh

2=2=5 kfgL tyf cGo k|fs[lts >f]t

131,416,171.00 82,543,733.76 - 131,604,000.00 

3 ljQLo x:tfGt/)f M

3=1 g]kfn ;/sf/af^ k|fKt x'g] cg'bfg M

3=1=1 ljQLo ;dfgLs/)f cg'bfg 190,500,000.00 95,250,000.00 201,200,000.00 

3=1=2 ;zt{ cg'bfg 377,200,000.00 286,384,560.00 399,500,000.00 

3=1=3 ;dk"/s cg'bfg

3=1=4 ljz]if cg'bfg 24,900,000.00 

3=2 k|b]z ;/sf/af^ k|fKt x'g] cg'bfg M

3=2=1 ljQLo ;dfgLs/)f cg'bfg 8,269,000.00 4,134,500.00 12,020,000.00 

3=2=2 ;zt{ cg'bfg 1,600,000.00 5,533,000.00 1,583,000.00 

3=2=3 ;dk"/s cg'bfg 10,000,000.00 3,333,000.00 10,000,000.00 

3=2=4 ljz]if cg'bfg k"FhLut

3=2= ;jf/L ;fwg s/ jfF*kmfF* 9,175,930.00 

587,569,000.00 394,635,060.00 - 658,378,930.00 

874,121,871.00 659,094,501.56 - 1,055,832,500.00 

/fhZj jfF*kmfF* tkm{sf] hDdf

cfGtl/s / /fhZj jfF*kmfF* jfx]ssf] hDdf

s"n hDdf -cfGtl/s, /fhZj jfF*kmfF* / g]kfn ;/sf/_

cfGtl/s /fhZj tkm{sf] hDdf



qm=;+= lzif{ssf] gfd rfn' vr{ k"FhLut vr{ ljQLo Joj:yf hDdf

1 gu/ sfo{kflnsf -;zt{ cg'bfg jfx]s_ 111,816,000.00 447,449,500.00 559,265,500.00 

2 j*f ;ldlt 5,584,000.00 55,000,000.00 60,584,000.00 

3 ljifout÷If]qut jh]^ -;zt{ cg'bfg ;d]t_ 401,083,000.00 34,900,000.00 435,983,000.00 

4 C)fsf] ;fFjf Jofh e'QmfgL - 

5 nufgL -z]o/÷C)f_ - 

hDdf 518,483,000.00 537,349,500.00 - 1,055,832,500.00 
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